

AGRICULTURAL COMMISSIONER'S OFFICE 81-077 INDIO BLVD, STE K INDIO, CA 92201 PHONE (760) 342-5070

KEITH SELNICK SUPERVISING AGRICULTURAL AND STANDARDS INVESTIGATOR II

COACHELLA VALLEY ACREAGE AND AGRICULTURAL CROP REPORT 2014

Riverside County's total gross valuation for 2014 is \$1,327,812,000.

Riverside County's total agricultural production is derived from four separate and distinct districts: Riverside/Corona, San Jacinto/Temecula Valley, Coachella Valley, and the Palo Verde Valley.

Below is a table comparing the value of the agricultural crops in each of the districts during the last three years.

	2012	2013	2014
Riverside/Corona	\$111,308,000	\$110,078,000	\$96,205,000
San Jacinto/Temecula	157,747,000	165,035,000	175,767,000
Coachella Valley	543,658,000	615,621,000	625,602,000
Palo Verde Valley	155,320,000	167,701,000	171,013,000

We must emphasize that this report reflects only a gross return and in no way represents a measure of profit to the producers.

If you have any questions regarding this report, or desire the complete Annual Riverside County Agricultural Production Report, please visit our website at www.rivcoag.org or write or call your local Agricultural Commissioner's Office.

JOHN SNYDER
AGRICULTURAL COMMISSIONER\
SEALER OF WEIGHTS AND MEASURES

CITRUS CROPS

			Prod	luction			Value
	Planted	Harvested	Per			Per	
_	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Grapefruit-Ruby	310	310	14.79	4,580	tons	597.06	2,735,000
By-products			2.67	830	"	58.82	48,800
Grapefruit-Red	380	380	15.61	5,930	"	664.70	3,942,000
By-products			2.86	1,090	"	58.82	64,100
Grapefruit-Other*	100	100	14.79	1,480	"	495.29	733,000
By-products			1.87	187	"	58.24	11,000
Lemons	5,200	5,100	15.39	78,500	"	1124.40	88,265,000
By-products			2.49	12,700	"	100.00	1,270,000
Miscellaneous**	215	215	11.72	2,520	"	940.08	2,369,000
Oranges-Valencia	240	240	7.50	1,800	"	645.33	1,162,000
By-products			2.34	562	"	101.84	57,200
Mandarins / Tangerines	1,500	1,500	8.90	13,400	"	1064.24	14,261,000
By-products			2.69	4,040	"	79.10	320,000
Tangelos	376	376	6.90	2,594	"	886.67	2,300,000
By-products			2.56	963	"	110.00	105,900
TOTAL	8,321	8,221					\$117,644,000

^{*} Includes White, Other.

^{**}Includes Kumquats, Limes.

TREE AND VINE CROPS

			Pı	roduction			Value
	Planted	Harvested	Per			Per	
_	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Dates	8,465	7,765	2.30	17,900	tons	2,000	35,800,000
By-product			0.35	2,720	"	85.00	231,000
Grapes-Table	8,168	7,761 Information for each variety is broken out on the following lines below.					ng lines below.
Beauty-Seedless	43	43	6.30	271	tons	2,444.44	662,000
Exotic	30	30	6.84	205	"	2,111.11	433,000
Flame Seedless	3,765	3,460	9.58	33,100	"	2,033.33	67,303,000
Perlette	78	78	7.38	576	"	2,666.67	1,536,000
Thompson Seedless	70	70	6.57	460	"	2,666.67	1,227,000
Other	4,182	4,080	6.30	25,700	"	2,222.22	57,111,000
Miscellaneous*	418	418	8.20	3,430	"	1,679.30	5,760,000
TOTAL	17,051	15,944					170,063,000

^{*}Includes Figs, Grapes-Raisins, Jojoba, Mangos, Peaches.

VEGETABLE, MELON, AND MISCELLANEOUS CROPS

		Prod	duction			Value
	Total					
	Harvested	Per			Per	
	Acreage	Acre	Total	Unit	Unit	Total
Artichokes	638	8.05	5,140	tons	1,260.87	6,481,000
Beans-Green	1,186	6.30	7,470	"	1,285.71	9,604,000
Broccoli	942	6.90	6,500	"	826.09	5,370,000
Carrots	4,324	30.68	133,000	"	174.21	23,170,000
Cauliflower	1,008	8.05	8,100	"	1,000.00	8,100,000
Celery	748	31.50	23,600	"	375.00	8,850,000
Corn-Sweet	1,219	9.00	11,000	"	533.33	5,867,000
Eggplant	245	17.50	4,290	"	925.00	3,968,000
Herbs/Spices	1,150	7.25	8,340	"	1,240.00	10,342,000
Lettuce-Head	234	16.75	3,920	"	441.00	1,729,000
Lettuce -Loose leaf	1,200	11.00	13,200	"	786.48	10,382,000
Lettuce -Romaine	1,800	14.00	25,200	"	600.00	15,120,000
Melons, Watermelon	771	28.00	21,600	"	400.00	8,640,000
Miscellaneous*	2,696	20.68	55,800	"	374.22	20,881,000
Okra	1,118	4.15	4,640	"	1,000.00	4,640,000
Onions-Dry	115	38.75	4,460	"	360.00	1,606,000
Onions-Green	205	18.50	3,790	"	1,100.00	4,169,000
Oriental Vegetables	2,104	11.20	23,600	"	821.43	19,386,000
Pepper-Bell	4,490	17.40	78,100	"	966.67	75,497,000
Strawberries	619	22.20	13,700	"	1,916.67	26,258,000
Spinach	852	7.25	6,200	"	1,325.00	8,215,000
Tomatoes	254	19.00	4,830	"	800.00	3,864,000
TOTAL	27,918					\$282,139,000

^{*} Includes: Beets, Brussels Sprouts, Cabbage, Leeks, Kale, Peppers-Chili, Potatoes-Spring, Radishes, Squash-Winter, Turnips.

Riverside County

FIELD AND SEED CROPS

		Prod	uction	_		Value
	Total Harvested	Per		•	Per	
	Acreage	Acre	Total	Unit	Unit	Total
Hay						
Alfalfa	607	8.00	4,860	tons	260.00	1,264,000
Sudan	92	6.00	552	tons	160.00	88,000
Pasture, Irrigated	1,427	1.00	1,553	acres	150.00	233,000
TOTAL	2,126	_				\$1,585,000

NURSERY STOCK PRODUCTION

	Production			Value	
	Acres	Total	Unit	Total	
O 1	1.027	15 (22 000		40.762.000	
Ornamental Nursery Stock	1,937	15,623,000	various	40,763,000	
Cut Flowers	15	1,789,000	cuttings	1,062,000	
Cut Greens	3	95,000	cuttings	375,000	
Turf	1,084	52,123,000	square feet	8,749,000	
Farm Planting Stock	76	150,000	various	3,222,000	
TOTAL	3,115			\$54,171,000	

SUMMARY

Harvested Acreage		Valuation
Citrus Crops	8,221	117,644,000
Tree & Vine Crops	15,944	170,063,000
Vegetable, Melon & Misc. Crops	27,918	282,139,000
Field & Seed Crops	2,126	1,585,000
Nursery Stock	3,115	54,171,000
TOTAL	57,324	\$625,602,000